4300

306

2.5mm THK
4316

SRO00 - "A" PROFILE BEAM 4.3m x

306

SR700 - VIK "A" PROFILE BEAM 3mm THK

4316mm LONG BEAM
2316

306

VIK "A" PROFILE BEAM 3mm THK
2316mm LONG BEAM

4300

1000
COVER BEAM

306

SR023 - EXPANSION 'A' PROFILE BEAM 3MM THK

2.5MM THICK OR 3MM THICK BEAM
MAY BE USED. FIXINGS USED MUST BE
ACCORDING TO BEAM TYPE

EXPANSION BEAMS ARE DELIVERED FACTORY ASSEMBLED.
IF CIRCUMSTANCES DICTATE ON SITE ASSEMBLY PLEASE
FOLLOW THE FOLLOWING GUIDANCE:

INSIDE NUT TIGHTENED TO 15Nm OUTSIDE LOCKING NUT
TIGHTENED TO 70Nm.

NOTE: IT IS VERY IMPORTANT TO HOLD INSIDE NUT WITH
A SPANNER WHEN APPLYING THE TORQUE WRENCH TO
THE OUTSIDE NUT.

| 018

35

®_.__/

SR155 - WASHER PLATE
85x35x4 DIA. 18

Kisi

M16 L

SR201 - SETSCREW 8.8
M16x45 c¢/w NUT

vis | |

SR200 - SETSCREW 4.6 SR300 - WASHER
LIP M16x27 c/w NUT 18¢

45

40

@18

@(/,, | |

M16

SR741 - WASHER PLATE

115x 40 x 5 DIA. 18

iy
16

me | |

SR730 - SETSCREW 8.8

SR740 - SETSCREW 8.8
M16x45

©

D

LIP M16x25 c/w
FLANGE NUT

SR742 - M16 WASHER  SR743 - M16 HEX NUT

’ FIXINGS FOR 2.5MM THICK BEAM ‘

700 MAX.

700 MAX.

’ FIXINGS FOR 3MM THICK BEAM ‘

SURFACE—
MOUNTED POST

TBD
O/ALL HEIGHT

L —SURFACE
/ MOUNTED POST

50

Jj;@

1° WITH CAST IN ANCHORS, DRILL & FIX
lo ANCHORS OR PUSHED IN

OFFSET BASEPLATES CAN BE FIXED

ANCHORS AT 180x180 CENTRES

4x M20 THREADED HOLES

*BASEPLATE DRILL & TAPPED FOR LIFTING EYE

60

100
o,
100
o,

60

100
8
100

2000

2400

SR540 - C100 POST
2400mm X 5mm THICK

62 INT.

I

1100

1800

220
o o
(=) o
o~ ™
150 )
[a]
o
=
/" \ SR100 - A21
+ REINFORCING
SR541 - SURFACE RING

MOUNTED C100 POST

SR538 - C100 POST
1800mm X 5mm THICK

SR539 - C100 POST
2000mm X 5mm THICK

62 INT.

62 INT.

f
108 INT

108 INT

450
500

SR181 - C-100
POST SOCKET
x 450

SR182 - C-100
POST SOCKET
x 500

108 INT

550

SR183 - C-100
POST SOCKET
x 550

SR537 - C100 POST
1100mm X 5Smm THICK

5MM THICK
17 |26/11/24 SR201 BOLT UPDATE H.B
16 [13/08/24| 2.5mm BEAM WASHER PLATE CHANGE | H.B
15 |17/05/24| 3MM BEAM LAP BOLT GRADE CHANGE | H.B
14 |22/03/24f COMPONENTS UPDATED H.B
13 ]20.06.23] SOCKET SIZE CHANGED A.D
12 |21.07.22] SOCKET SIZE CHANGED A.D
11 27.06.22 | SURFACE MOUNTED POST HEIGHT CHANGED A.D
10 |13.05.22| SURFACE MOUNTED POST BASE cHANGED | A.D
09 19.01.22 ENLARGER DE;SS.EEH.?g(é;I; & STIFFENER A.D
08 |22.10.21 BEAM WIDTH ALTERED A.D
07 |23.09.21|DETAIL OF ITEM SR730 ALTERED| A.D
06 |27.05.21 DETAILS REVISED M.T
05 |22.07.20] EXP BEAM NOTE ADDED M.T
04 |18.06.20| EXPANSION BEAMS ADDED | M.T
03 |21.06.19] BEAM LENGTH REVISED M.T
02 |12.02.19 DETAILS REVISED M.T
01 |06.11.18 BEAM CODES REVISED M.T

REVn

DATE

DETAILS

INITIAL

MegaRail ep CC6
N2w4

N2W4 VEHICLE RESTRAINT SYSTEM
COMPONENTS SCHEMATIC

B sAFeroAD

CONCORD HOUSE,

BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

epN2W4-GA-00

REVn:

17




BEAM LAP CONNECTION
SCHEMATIC (2.5MM BEAM)
(1No. REQ. P/4m BEAM)

— 2No. ROWS OF
LAP BOLTS

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. FOR OPTIONS ON POST FOUNDATIONS REFER
TO DRAWING NUMBER MR-GA-020

4. FOR DEVIATIONS IN SYSTEM POST PITCH
REFER TO DRAWING epN2W4-GA-40

5. WHEN TYING INTO ADJACENT VRS ONLY ONE
WORKING WIDTH DIFFERENCE IS PERMITTED.

6. WHERE A KERB IS PRESENT THE MAXIMUM
KERB HEIGHT IS 100mm. SHOULD THE KERB BE
HIGHER THAN 100mm AND THE FENCE IS
SETBACK LESS THAN 250mm FROM FACE OF
KERB THE SYSTEM HEIGHT IS MEASURED FROM
THE CARRIAGEWAY. IF THE SETBACK IS MORE
THAN 250mm FROM THE FACE OF KERB THE

%‘ SYSTEM HEIGHT IS MEASURED FROM THE TOP

OF THE KERB. SEE MR-GA-002.

7. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
REFER TO SAFEROAD MEGARAIL MANUAL.

8. CORRUGATE BEAMS SR000/SR700 MAY BE USED.
FIXINGS APPROPRIATE TO BEAM TYPE MUST BE
USED. SEE epN2W4-GA-00 FOR FURTHER
DETAILS

SR200 | SR300
\
=
SEE GA-00/02 FOR FIXINGS USED
SR000 — /" T \SR200{SR300 FOR éMM THICK BEAM
SR200 ) SR300
e v (sr300)
N \
N
N\ \
\ \
| | | | | | N | \ | | |
—t t t t t t —r— t t t
= 1 = 1 1 1 1 1 7 = 1 = n 1 1 1
& =] =) 2] =) =:) { C2) } =2) =) C2)
= 1 = 1 1 1 1 1 \ = 1 = A 1 1 1
8 - 1 - 1 1 1 1 1 - 1 - 1 1 1
i T T T T T T T T T T
o
Q
ALTERNATE POST. ALTERNATE POST.
POSITION (6M CENTRES)V/ POSITION (6M CENTRES)V(
6000
EXPANSION ARRANGEMENT INSTALLATION GUIDLINE:
. ANY LENGTH GREATER THAN 50M TO HAVE AT LEAST 1No. EXPANSION ASSEMBLY INSTALLATION TEAM TO CHECK EXPANSION ASSEMBLY
. LENGTHS OF 100M OR MORE TO HAVE A MINIMUM 1No. EXPANSION ASSEMBLY EVERY 100M FASTENERS ARE SET TO A TORQUE OF 15Nm. OUTSIDE
. LENGTHS >150M BUT <200M WOULD REQUIRE A MINIMUM OF OF 2No. EXPANSION ASSEMBLIES LOCKING NUT TIGHTENED TO 70Nm.
SRO00/SR700 OR 2m VIK BEAM 4000 SR000/SR700 OR 2m VIK BEAM
EXPANSION BAY ARRANGEMENT
%—I 1 1 1 1 1 -I%_
' ' 2064 ' ' 2064 ' '
1000
COVER BEAM
6000 6000 6000
POST ALTERNATE ALTERNATE POST CONNECTION
CONNECTION FOUNDATION TYPE POST POSITION POST POSITION TYPE 2
TYPE 1 DETAIL OMITTED FROM POSTS
FOR CLARITY
. f 7 T
L%—J TRAFFIC FLOW ———~ SEE epN2W4-GA-03 FOR B?E%JM
LAp BEAM LAPPING DETAILS P
i 7/
//// / MIN. 1300
7 C100x5mm
TOTAL COMPONENTS PER 4M BEAM TABLE 'B' - SCHEDULE OF POST 7 —‘
REFERENCE NUMBERS AND LENGTHS L
7/
SAFEROAD 2 Il
PART NUMBER DESCRIPTION QUANTITY SAFEROAD PART POST LENGTH ~ - I
NUMBER s 2 Il R
8N 7Sy H 8 +H
SR000 /SR700 |'A' PROFILE BEAM 2.5MM/3MM THICK 1 R537 1100 // . a3 : : 7 g
'8 | POST C100 (5mm THICK s ~
SEE TABLE 'B (5mm ) 1 SR538 1800 7 1 &
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING 5 N
NUMBER epN2W4-GA-02 SR539 2000 i 0
SR540 2400

14 [13/08/24 | 2.5mm BEAM WASHER PLATE CHANGE | H.B
‘COMPONENT CHANGE & ADDITIONAL

13 [22/03/24 POST CENTRE ADDED H.B

12 |10.02.23| EXPANSION NOTE CHANGED H.B

11 |17.12.21 SR NUMBER REMOVED A.D

10 |22.10.21 BEAM WIDTH ALTERED A.D

09 |08.10.21 TOLERANCE ADDED A.D
FURTHER DETAILS

08 |26.08.21 REVISED M.T
EXPANSION NOTE

07 |23.07.21 CHANGED AD

06 [18.06.20 EXPANSION ADDED M.T

REVn DATE DETAILS INITIAL

MegaRail ep CC6
N2wW4

SYSTEM ASSEMBLY AND SETTING
OUT ARRANGEMENT SCHEMATIC

B sAFer0oAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

epN2W4-GA-01 14




RIGHT HAND BEAM LEFT HAND BEAM

N
,\
y

BEAM LAP FIXING SCHEMATIC
(x2 LOCATIONS / BEAM END)

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR

VERGE INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS

|
*,
|

|

|

|

|

|

!

BEAM TO POST FIXING SCHEMATIC

(CONNECTION TYPE 1)

FIXINGS FOR 3MM THICK BEAM

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

06 [13/08/24| 2.5mm BEAM WASHER PLATE CHANGE | H.B

05 [17/05/24| 3MM BEAM LAP BOLT GRADE CHANGE | H.B

04 ]22/03/24] COMPONENTS UPDATED H.B

NUT & WASHER REMOVED AND
03 ]23.09.21 REPLACED WITH FLANGE NUT AD

02 (12.02.19 TITLEBLOCK REVISED M.T

01 (06.11.18 BEAM CODES REVISED M.T

00 (20.09.18 DRAWING CREATED H.B

REVn DATE DETAILS INITIAL

FIXINGS FOR 2.5MM THICK BEAM

THE REFERENCES ARE REVERSED TOTAL QUANTITIES PER POST
TOTAL QUANTITIES PER BEAM
SAFEROAD PART DESCRIPTION BEAM TO POST
SAFEROAD NUMBER CONNECTION
BEAM LAP
PART DESCRIPTION CONNECTON
NUMBER SR740 SETSCREW 8.8 M16 x 45 1
SR741 WASHER PLATE 115 x 40 x 5 DIA. 18 1
SR742 WASHER M16 18¢ HOLE 1
SR743 M16 HEXAGON NUT 1
RIGHT HAND BEAM LEFT HAND BEAM p—
%
SR300 g SR200 o Jl[ i
SR300 @ ||
SR200 ||
SR300 g 0 : :
> ||
BEAM LAP FIXING SCHEMATIC L1
(x2 LOCATIONS / BEAM END) BEAM TO POST FIXING SCHEMATIC
*%  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR (CONNECTION TYPE 1)
VERGE INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS
THE REFERENCES ARE REVERSED TOTAL QUANTITIES PER POST
TOTAL QUANTITIES PER BEAM SAFEROAD BEAM TO
SAFEROAD BEAM LAP PART DESCRIPTION POST
PART DESCRIPTION NUMBER CONNECTION
NUMBER CONNECTION
SETSCREW 4.6 LIP M6 SR201 SETSCREW 8.8 M16 x 45 c/w NUT 1
SR200 | i Ut 8 (+8)
SR155 WASHER PLATE 85 x 35 x 4 DIA. 18 1
SR300 | WASHER M16 18¢ HOLE 8 (+8)
SR300 WASHER M16 184 HOLE 1

MegaRail ep CC6
N2w4

FIXING & INSTALLATION SCHEMATIC

B sAFeroAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

epN2W4-GA-02 | 06




( C100 POST
|
|
|
|
|
|
|
]
|
|
— S T S
T
0 <
= =
< s
a
- -
= =
|

LEFT HAND BEAM
('TEAR DROP' HOLES TO BE AT
DEPARTURE END OF BEAM)

TRAFFIC FLOW

C100 POST

RIGHT HAND BEAM - LAPPED
UNDERNEATH LEFT HAND BEAM

FOUNDATION TYPE
DETAIL OMITTED FROM POSTS
FOR CLARITY

LEFT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

LAP DETAILS FOR LOCATIONS
THAT FALL ON POST

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

RIGHT HAND BEAM

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

—%_
s s
o -J
s s
< <
[==)

= = 03 [22/03/24]  DRAWING UPDATED HB
= =

02 |27.06.22 NOTES REMOVED AD

RIGHT HAND BEAM - LAPPED

UNDERNEATH LEFT HAND BEAM 01 |12.02.19 TITLEBLOCK REVISED M.T

LEFT HAND BEAM 00 (20.09.18 DRAWING CREATED H.B

REVn DATE DETAILS INITIAL

('TEAR DROP' HOLES TO BE AT
DEPARTURE END OF BEAM)

LAP DETAILS FOR LOCATIONS
THAT DON'T FALL ON POST

MegaRail ep CC6
N2w4

BEAM LAPPING DETAILS

B sAFer0oAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

epN2W4-GA-03 | 03




ON-COMING TRAFFIC.

REVNn

DATE

DETAILS

INITIAL

epN2W4-GA-20

IF ONLY 6M OF EP CC6 IS REQUIRED,
1No. 4M & 1No. 2M BEAM MAY BE USED
MEGARAIL EP CC6 MEGARAIL N2W3
(N2W4)
C100 POSTS (5MM THICK) SIGMA POSTS
6000 ) 6000 4000 4000
ALTERNATE POST POSITIONS
AS SHOWN IN GA-01 MAY BE
IMPLMENTED K
\ | FIRST N2W3 SYSTEM —{]
‘ ‘ LAST N2W4 SYSTEM POST ‘
—%_
\ \ \
|
‘ 4000
\
\ —t
—%_
‘ 4 4 4 |: =
| | | | | | | | | |' = i i i = =
i i i i i i i i i == % % % —F—
= — = — = = — i i i —F=
1 1 1 1 1 1 1 1 1 ——
T T T T T T T T T T
SR700
TRAFFIC FLOW — (CORRUGATE BEAM)
SR000 OR SR700
(CORRUGATE BEAM)
MegaRail ep CC6
FOR BEAM LAPPING DETAILS,
SEE epN2W4-GA-03 N 2W4
SYSTEM PROGRESSION DETAILS
07 |22/03/24 DRAWING UPDATED H.B SAFEROAD
06 |27.06.22 NOTES REMOVED A.D
05 |19.10.21 DETAILS REVISED A.D CONCORD HOUSE’
ST EETON ERROWON T BESSEMER WAY, SCUNTHORPE,
04 108.10.21f poere MoVED A.D NORTH LINCOLNSHIRE, DN15 8XE
03 |23.09.21 ESkESGIE’é SIGMA POSTS A.D t: 01724 289119
02 |02z DETAILS REVISED T FOR TECHNICAL ASSISTANCE CONTACT
GENERAL NOTES: il : john.cudlipp@saferoad.co.uk
1. POSTS ARE TO BE INSTALLED WITH THE 01 |12.02.19 DETAILS REVISED M.T [ brAwING NUMBER: REVN:
CLOSED FACE OF THE CHANNEL TOWARDS THE 00 |20.09.18 DRAWING CREATED H.B

07




GENERAL NOTES:

1. IN PRINCIPLE, THE DISTANCE BETWEEN THE
POSTS ARE NOT EXCEEDED. IF THE SITE
CONDITIONS DO NOT ALLOW A REGULAR
DISTANCE, THE POST SPACING MUST BE
REDUCED WITH AN ADDITIONAL POST.

2. OFFSET POSTS SHOWN ON DRAWING
epN2W4-GA-00 CAN BE USED.

| | | | | | | | | | |
1 1 1 1 1 S — 1 1 1 1 1
=) =) =) 3] 3] _ =2 _ =) =) 3] =2 b ]
; ; ; ; — ; ; ; ;
T T T T T T T T T
OBSTRUCTION
T4
— —
(500 MIN./6000 MAX.) REDUCED POST CENTRE (500 MIN./6000 MAX.)
(500 MIN.)
ALTERNATE POST POSITIONS
AS SHOWN IN GA-01 MAY BE
IMPLMENTED
6000 6000 6000 04 [22/03/24)  DRAWING UPDATED H.B
03 [15.03.22| par o 0 0T AD
- s - : - e _ - o ool T
_%:? $ —F— $ $ $ $ $ — = = = = = 01 [12.02.19| TITLEBLOCKREVISED | M.T
i 1 T i i i l l — i i i i I 00 [20.09.18]  DRAWING CREATED H.B
L REVNn DATE DETAILS INITIAL
|

_%_

PUSHED IN
CRADLE
ANCHOR

7

OBSTRUCTION

-%_
DRILL &

NOT TO BE REPEATED WITHIN 18M

FIX OR
PUSHED IN
ANCHOR

MegaRail ep CC6
N2w4

DETAILS OF PERMISSABLE
DEVIATIONS FOR POST POSITIONS

B sAFeroAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

epN2W4-GA-40 04




SRO00:- 2.5mm ‘A’

SR700:- 3mm VIK ‘A’

PROFILE BEAM

PROFILE BEAM

REFER TO NPSBS DRAWINGS FOR
DETAILS OF TENSIONING ASSEMBLIES

POSTS MAY ALSO BE AT 1600MM C/C

% % | FROM FIRST TCB SYSTEM POST
4300 4300 4300 3504 3504 3504
SR000 / SR700 SR0O00 / SR700 SR0O00 / SR700 STANDARD TENSIONED STANDARD TENSIONED STANDARD TENSIONED
300 300 300 CORRUGATE BEAM ‘ 300 CORRUGATE BEAM 300 CORRUGATE BEAM
BEAM LAP BEAM LAP BEAM LAP BEAM LAP BEAM LAP
— == — : — == — : — == = : = == = : = == = : =
B T
6000 6000 2400 ABSOLUTE MIN. 3200 3200
6000 ABSOLUTE MAX.
MEGARAIL EP N2w4 CCé6 New6é FROM HE ACCEPTED
PRODUCT LIST
L TRAFFIC FLOW L
MINIMUM INCLUSION OF 2No. 6M POST SPACINGS B A
PRIOR TO CONNECTION INTO TCB POST TYPE/FOUNDATION IN ACCORDANCE
ELEVATION ON TRAFFIC FACE OF MEGARAIL EP N2W4 CC6 WITH NPSBS GA DRAWINGS
TO NON PROPRIETARY SINGLE SIDED TCB
(OPPOSITE HAND SIMILAR)
SCALE: 1:50
CLOSED FACE OF ‘C” POST MUST BE PRESENTED RADIUSED EDGE OF ‘Z” POST MUST ALWAYS BE
TO ONCOMING TRAFFIC PRESENTED TO ONCOMING TRAFFIC
(il ~J
I
I
I s
I L o
I * 0
11l TRAFFIC SIDE VERGE TRAFFIC SIDE VERGE
Il LOCATION SHOWN LOCATION SHOWN
11
SECTION B—B SECTION A—A
(SECTION THROUGH ON (SECTION THROUGH ON
EP _N2W4 CC6) STANDARD TCB)
B . MEGARAIL
USE HEIGHT TOLERANCE IN cc6é TO MAINTAIN A
FEOVING ACLIGRMENT GENERAL ARRANGEMENT OF
MEGARAIL TO EP N2W4 CCé6
TO SINGLE-SIDED N2W6
GENERAL NOTES;
1. ALL DIMENSIONS IN MILLIMETRES UNLESS NDTED OTHERWISE. ) S H F ER D HD
2. FOR DETAILS OF TCB, REFER TO NPSBS DRAWING GA/10
3. INSTALLATION INSTRUCTION FOR MEGARAIL EP N2W4 CC6 SHOULD BE
CONCORD HOUSE
CONSULTED FOR DETAILS OF POST FOUNDATION ETC. )
BESSEMER WAY, SCUNTHORPE,
4,  FOR DETAILS OF MEGARAIL EP N2wW4 CC6, REFER TO MEGARAIL MANUAL NORTH LINCOLNSHIRE, DN15 8XE
S. FOR DETAILS OF TCB, REFER TO NPSBS DRAWINGS: GAO7, 10, 11, 12 & 13. FOR TECH-ll\-l:I ngﬁz\gséimég CONTACT
6. FOR DETAILS OF DSTCB, REFER TO NPSBS DRAWINGS: GAl4 & 15, 02 |2503.24| DRAWING UPDATED HB john.cudlipp@saferoad.co.uk
7. FOR DETAILS OF INDIVIDUAL COMPONENTS OF TCB, REFER TO NPSBS 01 |23.01.24 TOLERANCE ADDED H3B [DRAWING NUMBER: REVh
DRAWINGS SF SERIES
10, " .
8. ANY CUT BEAM TO BE A MINIMUM OF 12M FROM CONNECTION 00 |0e.10.22 DRAVING CREATED H.B EPN2W4-GA-41 02
REVNn DATE DETAILS INITIAL






